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# % & 41% 35 # (Consumer Price Index)
i 4 # #](Continuous Compounding)
$h2f (Externality)

PR P &kl (The Law of Diminishing Marginal Utility)

P ¥F 4884 & (Internal Rate of Return)
AA 3 5 (Cost-Benefit Analysis)

MEH (304 %154

to kA F (Effective Interest Rate)$1.% 8 #)%& (Nominal Interest Rate)
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LA 7k (Present Worth Method) s 4 %4 5 (Annual Equivalenf Method) &y
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EEEFABREFEA B CX P ALAT R T :

n Project A Project B Project C
0 -$80,000 -$80,000 -$80,000
1 $0 $120,000 $0

2 $160,000 $0 $0

3 $0 $0 $140,000
4 $0 - $0 $0

5 -$24,000 $24,000 $40,000

183% MARRCHR 16,7 48 % 4R850 4 )=8% -
FRATATREHFET % - ROHWASNBERT—@FE > $RADY -

(1) #§ $38 &% (Conventional-Payback Method) (10 )
(2)BR44 7% (Present Worth Method) (10 %)

(3)§$bt.'f‘£j(Benefit—Cost Analysis) (15 %)
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